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p71(3-39m3,41,43,55)

9.80x+9y=6,A=8B8=9C=6

18. Yes, it can be written in fix) =

mx + b form, where m = 0 and
b = 6.

24. Yes; it can be written in fx) =

mx + b form, where m = é and
p=38 ’
=3
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2.3: Rate of Change & Slope

Rate of change usually involves the word PER, examples?
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Find the rate of change for the following:

1) You worked 12 hours and made $100.
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2) You drove for 6 hours and covered 400 miles.
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3) You assembled 33 engines in 8 hours.
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Slope is a rate of change.

Vertical change per horizontal change.

Fise per e~ gise
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Ax+By=C =  y=mx+bh
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Math Practice:
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